2023FEE B

-

WRATSKR ERKR

(BREHARIEBEE=5R "NE —REEX=TR T8

20234F i
EEPN=] EHEER R
= | HB HE HE % —8 —8
=h BR | xE hr mE rE BB fgE %
ZRO B Z &R 160 160 161 1.0
i L TER 80 80 62 0.78
%) H# TER 120 120 123 1.03
& =il 80 80 95 119
AE HEH 160 16%2E| 11 11100 149 171 115
=T B
FXQ 8 ZER 230 E"“‘é 21 18 117 212 263 124 OBHEI—REED
8 N BHI1-2 (#930) a8)| @1 @18 117 (12) (5) (042 OFEHDORHK
= W EEw 160 160 132 083
E L Ep EEw 160 160 90 0.56
={iiLis) @R 160 160 131 082
EESES
=IE TER 240 :—mfz 15 14 107 226 212 094 OBHKEPI—REEL
EIES BAESFI-2 (#940) (12F2fE)| (15) (14 (1.07) (26) (14) (0.54) OETEBEHDOAHK
z=
IIE4: EEH 120 1715.5;:1—2;‘«1 27 24 113 96 155 161 OKBEI—RE&EL
EIdLER #EI-2 (#940) @) @n (@4 (1.13) (16) (9) (0.56) OEER DA
EILr TER 200 8FEE 7 7 100 193 221 115
N B TER 160 18FE[E 11 11 100 149 151 101
2RO ¥ E &R 120 120 101 084
X M TEw 120 12i2fE 8 8 100 112 133 1.19
= M EEE 160 160 168  1.05
= EE TaEw 160 12f2fE 24 14 1.71 146 150 1.03
kK R TEw 80 80 88 1.10
2 TEw 120 1632/E 14 14 100 106 113 107
2R® a8 LEF 120 120 116 097
i EEE 160 160 149 093
BT TER 30 30 21 070
EhEE EEF 160 160 169  1.06
EEERICET S ZER mEmEER =& Ft 30 10F2fE 14 12 117 18 8 044
NI N E 3R RE 120 4012E 15 15 1.00 105 60 057
EMHBEZHETER = [ BREER 80 80 77 096
E W BREER 80 80 137 1.1
E L Ep BREER 80 80 182 228
ELdLER <FY-n171HE 80 3278[E 19 19 1.00 61 39 064
B FER 40 1818fE 12 12 1.00 28 18 0.64
EEICEAT5ER i & EER 40 18%2[E 18 18 1.00 22 23 105
¥ & EER 40 18FE[E 30 20 150 20 24 1.20
EEEE FRBE Y P AR 80 40 39 39  1.00 41 44 107
EEEE B[ ¥ 40 20 6 6 1.00 34 24 071
EEEE 25y R AR 40 20 10 10 1.00 30 30 1.00
EEEE IEERES 2 AR 40 20 20 20 1.00 20 25 125
EIESES FOREY r AR 80 40 57 40 143 40 41 103
EILEE BV RAVRY AU 40 20 20 20 1.00 20 23 115
EILEE 25V 2 AR 40 20 24 20 120 20 30 150
EIESES IEERES 2 AR 80 40 28 28  1.00 52 57  1.10
ELdLER ERT Y AUR 40 18%EfE 31 20 155 20 39 195
&N EER 40 18FE[E 15 15 1.00 25 22 088
K R by * A% 40 18F2fE 24 20 1.20 20 27 135
ITRIZEATHER BETHE HEmE 40 16%2[E 9 9 1.00 31 28 090
BETE BEXF 40 16%2[E 1 1 1.00 39 15  0.38
BETX EHRIRER 40 16%2fE 1 1 1.00 39 27 069
 H TKE 40 18T 15 15 1.00 25 13 052
BEIE R 40 16%2fE 13 13 1.00 27 29  1.07
BEIE EFHEWE 40 16%2fE 10 10 1.00 30 37 123
BEIE BEXF 40 16%2fE 6 6 1.00 34 24 0.1
BRI BER 40 16%R[E 22 18 1.22 22 27 123
EfIx= T RIREHR 40 1672 10 10 1.00 30 20 067
EfIx= IT=E# 30 12f2fE 15 14 107 16 20 125
EfIx T -KBEFR 40 20 31 20 155 20 40 2.00
iR IT% R 80 32%2fE 15 15 1.00 65 25 038
MmEIE BERE 40 16%2[E 7 7 1.00 33 14 042
kT BEFHE 40 1678 9 9 1.00 31 30 097
ELTE M T2 80 32%2FE 25 25 1.00 55 50 0.91
ELTE BEFHEWM IR 40 16%2[E 15 15 1.00 25 31 124
ELTE ERIFH 40 16%2[E 9 9 1.00 31 21 068
ELTE ERI¥EH 80 32%2FE 21 21 1.00 59 62 1.05
ELTE BETHH 40 16%2[E 17 17 1.00 23 41 178
ELTE T ARITZEH 40 16%2[E 24 17 1.41 23 24 104
BECEHYTIER hREE et 78 36FR[E 13 13 1.00 65 19 029
EhEE BERER 30 12f2fE 20 14 143 16 26 1.63
A E BER 30 12fBfE 12 12 1.00 18 20 1.1
XK B BEREH 20 8FEE 4 4 100 16 28 175




2023 E

PN SRR R
= | HB HE HE B —8 —H
2 HE G mE fE R B @ =

KEIZETHEH B EER 40 18FE[E 7 7 1.00 33 20 0.61
kK R EEREH 20 B8FEE 12 10  1.20 10 15 1.50

REICEATEH i 1 HEEXEH 40 12f8E 14 13 1.08 27 27 1.00
N EERRER 40 18FEfE 19 19  1.00 21 36 1.71

K R HEEEUFE 40 1872 12 12 1.00 28 28 1.00

EEICEHTHER BELNVTH EER 40 14%8E 24 14 1.71 26 33 1.27
BALICRE T %% R 2R 30 15 19 15  1.27 15 21 140
weEd Lt ™ = 150 45%2[E 30 30 100 120 106 0388
N k2 = 160 ASFE[E 58 47 123 113 131 1.16

ELUNVTH #waEs 150 A5FE[E 55 45 122 105 134 1.28




